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R-solution to nr.1 in Exercise 6

> x=c(15,25,80,96,111,125,242,275,551,937)

> X

[1] 15 25 80 96 111 125242275 551 937

> y=c(41,92,297,377,95,231,601,1063,1645,1894)
>y

[1] 41 92 297 377 95 231 601 1063 1645 1894
> mean(y)

[1]1633.6

> mean(x)

[1]245.7

1a
>plot(x,y)

1b
> Discharges=data.frame(y,x)
> Discharges

y X

1 41 15
2 92 25
3 297 80
4 377 96
5 95 111
6 231 125
7 601 242
8 1063 275
9 1645 551
10 1894 937
Model 1

> ratiomodel=Im(y/sqrt(x)~sqrt(x)-1)
> ratiomodel

Call:
Im(formula = y/sqrt(x) ~ sqrt(x) - 1)

Coefficients:
sqrt(x)
2.579

1c
Model 11

> linreg=lm(y~x,data=Discharges)
> linreg

Call:
Im(formula = y ~ x, data = Discharges)

Coefficients:
(Intercept) X
93.03 2.20



Plots on 1a, 1b and 1c
> plot(x,y)

> z=5eq(0,900,10)

> yhat=93.03+2.2%2

> lines(z,yhat)

> yratio=2.579*%z

> lines(z,yratio)

1d

> Tzero=393*mean(y)

> Tzero

[1] 249004.8

> Ratioest=mean(y)/mean(x)
> Ratioest

[1] 2.578755

> Tratio=Ratioest*393%274.7
> Tratio

[1]1278394.9

> Tpred=393*mean(y)+2.20%(393*274.7-393*mean(x))
> Tpred
[1]274078.2




